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l. Choose the correct answer 5x1=5

1) If there are 1024 relations from set A ={1,2,3,4,5} to a set B then the
number of elements in B
(i) 3 (i) 2 (iii) 4 (iv) 8

2) If the ordered of pairs (a+2,4) and (5,2a+b)are equal then (a,b) is
(i) (2,-2) (i) (5,2) (iii) (2,3)  (iv) (3,-2)

3) Let n(A)=m, n(B)= n then the todal number of non empty relation that can
be defined from Ato B

(i) m" (ii)n™ (iii) 2™-1 (iv) 2mn
) letf(x) =v1 +x2 then
(i) fxy)=f (0. f (y) (i) £ (xy) = f (x). f(y)
(ii) fxy)<f(x).f(y) (iv) none of these

5) f(x)=(x+1)3 — (x — 1)3 represents a function which is
(i) linear (i) cubic (iii) reciprocal

(iv) quadratic
Il. Answer the following 5x2=10

6. if the ordered of pairs (x2 — 3x, y? + 4y) and (-2,5 ) are equal then find x
andy

7. If f(x) =x2 g(x) =3xand h(x) =x-2 find that (f e g) o h

8. Represent the function f={(1,2),(2,2),(3,2),(4,3),(5,4)} through
(i) an arrow diagram (ii) a table form

9. Define one — one function

10. Find kif f o f(k) = 5 where f(x) = 2k—1
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11. Letf(x)=x-1find f o f
lll. Answer the following 2x5=10
12. Given the function f: x - x% — 5x + 6 evaluate

(i) f (-1)ii) £ (2a) iii) f (2) iv) f (x-1)

13. Let f: A — B be a function defined by f(x) = g — 1 where A={2,4,6,8,10}
B={0,1,2,4,5,9} represent by

(i) set of ordered pairs  (ii) a table (iii) an arrow diagram (iv) a graph

14. Find the value of k such that fog =go fif f (x) =3x+2, g(x) = 6x—k

% >k 3k 3k %k %k %k %k >k %k %k %k *k
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